Musterldsung Einflhrung in die ET 1/2 F 2006
Aufgabe 1:

1.
R,. =R(170°)=200Q
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Aus Ip = 5 mA folgt Ugs = Up+1 V=25V
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Ugiz0 =Uga /215 - R(20°C)=7V
Ue1,170 =Upgy /2- lc - R(1 70°C) =6,5V
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Griin: Ug,, =5V- 1, 5°C-20C =75V
150K
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Rot:  Ug, =5V- 14140°C-20°C ) _ 4y,
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= R, = 4kQ;R, = 6kQ

5.
GELB =ROT + GRUN: NOR



Aufgabe 2:

1.
65
Pu=Uy by My =12V 20A = =156 W

2.
R, :ﬂ.ﬁ—nN): 12V -[1— 65 j:o,zm
N 20A 100
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Uy 12V _ 57,1A (60A)
R, 021Q

M, =M, dn_Nm .5270;1: =2,86Nm (3Nm)
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54 oming M, =2 8% n M=M=08-M, =0,8Nm
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|, =081, =16A
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U,=Uyny=12V.——=7,8V
iN N nN 100

U, =U, -% = 6,24V

U, =U +R, I, =624V +021Q-16A =96V  (9,39V mit 15A, 0,21Q; 9,24V mit 15A,
0,20; 9,44V mit 16A, 0,2Q)
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a=—2="""-08
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Aufgabe 3:

1c 11a 21c
2C 12b 22a
3a 13b 23a
4c 14a 24b
5b 15b 25b
6a 16a 26b
7b 17a 27b
8b 18¢c 28a
9c 19b 29b
10a 20c 30b




